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BHHEENRE AHEEE RS EHEREmR

£ g g - BKTE BfT 8 2 i ki £ m =
EEI=E 627,109
BEREEHR 627,109
BEREEHR 627,109
FERGET)FHLIE 371,985
fEEtE 81, 840
1-1 {E%EtE 1.00 81, 840. 00 81, 840
E3:
T E 19,170
1-2 BB E 0.15 127, 800. 00 19,170
km
FulMgAIE 65, 085
1-3 bMREE 0.15 433, 900. 00 65, 085
km
Hitwr R = 48, 390
1-4 HterAl= 0.15 322, 600. 00 48, 390
km
A= 157, 500
1-5 &A= 0.15 1, 050, 000. 00 157, 500
km
FER P-4 HRAE 218,124
T E 15, 336
1-6 HithE 0.12 127, 800. 00 15, 336
km
FulMgAIE 52,068




BHHEENRE AHEEE RS EHEREmR

1-7 PMREE 0.12 433, 900. 00 52,068
km
it wr iR = 38,712
1-8 HtErAI= 0.12 322, 600. 00 38,712
km
RS 112,008
1-9 #EETAIE 0.12 933, 400. 00 112,008
km
EERE 37,000
ETHREMIERE 37,000
1-10 EFRRAIERE 1.00 37, 000. 00 37,000
=
B[R 6, 543, 468
MEER % ET 6, 543, 468
ERERET 5,614,148
FEER (FT7) EMEEET 3,641,332
EEREREEGEE RS ES) 3, 641, 332
2-1 SEERFET (1EHEHY) 1.00 1,387, 440. 00 1,387, 440
eSS
2-2 FEREREE 1.00 1, 745, 562. 00 1,745, 562
=
2-3 HEKKEER T - HEtERTE B AT 1.00 58, 630. 00 58, 630
=
2-4 ERERFET 1.00 449, 700. 00 449, 700
=
FER (P-4) RS 1,972,816
FERABREMHKE 1,972,816




SHBERNRE SHFEERERBZEEFEREMRET

2-5 FHRGBREMmHR (1EHLY) 1.00 510, 900. 00 510, 900

ES: ]
2-6 FERKBREMRE THZ) 1.00 1,461, 916. 00 1,461,916

=
TaE 499, 900
TaE 499, 900
HaEWHE 499, 900
2-1 FZiEHhiE (ERTRE) 1.00 108, 600. 00 108, 600

=
2-8 HEtHEE (PRARE) 1.00 217, 200. 00 217, 200

=
2-9 FZithiE (REHE) 1.00 174, 100. 00 174,100

=
EERE 429, 420
EERE 429, 420
BERARE 52, 609
2-10 EERRE 1.00 52, 609. 00 52, 609

=
REXEE 145, 089
2-11 k& 1.00 145, 089. 00 145, 089

=
EBHRRE 231,722
2-12 ENRISLAE 1.00 231,722.00 231,722




AHRERER SHBEERERERAFEBEMBE
% g R - KSR Bifr 2 & B W =

EENEE 627, 109
HEHE 627,109 x 89.0% — 5,236 552, 891
AEEEE 627,109 + 552, 891 1,180, 000
BB E TS 1,180, 000
BRI 6,114,048 + 429,420 6, 543, 468
EEAGE 6,114,048
BE#ERE 429,420
Z Ot S f 6,114,048 x 53.85% ( 35% + (1 — 35%) ) 3,292,414
BRI 6,543,468 + 3,292,414 9,835, 882
—RERESE 9,835,882 x 53.85% (35% + (1 — 35%) ) — 2,504 5,294,118
KBS 9,835,882 + 5,294,118 15, 130, 000
B EHEAE 1,180,000 + 15,130, 000 16, 310, 000
HETR SR L 16,310,000 x 10.00% 1,631,000
FEIZRE 17, 941,000




BEf®R -EI/ \vr—> SHEERER S S U RERSEE
&5 11
B (ELHE E3 1
2 # 1BIE - AR B B i % w =
EEEHE
E3:3 1.000 81, 840. 00 81, 840
= it 81, 840. 00 81, 840
&S :1-2
L% BhRE Tkmy
2 # 1BIE - AR B B i % w =
R =
A 1. 600 44,160. 00 70, 656
HERER
A 1.400 34, 490. 00 48, 286
BHRE B
% 1.000 118, 942. 00 1,189
HHE
% 6. 500 118, 942. 00 7,731
= it 127, 800. 00 127, 862
&5 :1-3
A PILERRIE Thkm%y
2 # 1BIE - AR B B i % w =
il R RS E
km 1.000 45, 140. 00 45,140
BIERE
km 1.000 298, 500. 00 298, 500
ER R D ERL
km 1.000 40, 880. 00 40, 880
AREE
km 1.000 49, 400. 00 49, 400
= it 433, 900. 00 433, 920




BEf®R -EI/ \vr—> SHEERER S S U RERSEE
£S5 :1-4
L R & Tkmy
2 # 1BIE - AR B B B ff % i w =
Al
km 1.000 206, 800. 00 206, 800
A TE A AR
km 1.000 70, 520. 00 70, 520
AREE
km 1.000 45, 330. 00 45, 330
= it E¥8H :1.00km 322, 600. 00 322, 650
&S :1-5
LF . MR E Tkmy
2 # 1BIE - AR B B B ff % i w =
& 12605 O« REHR] »FEas
km 1.000 734, 200. 00 734, 200
HEHTE R AL 12605 O A REHR] » FEas
km 1.000 210, 400. 00 210, 400
AREE 12605 O A REHR] » FEas
km 1.000 105, 500. 00 105, 500
= it E%8H :1.00km 1, 050, 000. 00 1,050, 100
&S :1-6
L% BHhRE Tkmy
2 # 1BIE - AR B B B ff % i w =
R wiE
A 1. 600 44,160. 00 70, 656
R = B Eh e wiE
A 1.400 34, 490. 00 48, 286
HBHRE EEABED
% 1.000 118, 942. 00 1,189
HHE EEABED
% 6. 500 118, 942. 00 7,731
= H E¥8EH :1.00km 127, 800. 00 127, 862




BEf®R -EI/ \vr—> SHEEER SZ S U RE R
&5 :1-1
B RILEEIE Tkmy
2 # 1BIE - AR B B B ff % i w =
il R RS E
km 1.000 45, 140. 00 45,140
BIERE
km 1.000 298, 500. 00 298, 500
ER R D ERL
km 1.000 40, 880. 00 40, 880
AREE
km 1.000 49, 400. 00 49, 400
= it E¥8H :1.00km 433, 900. 00 433, 920
&S5 :1-8
L R & Tkmy
2 # 1BIE - AR B B B ff % i w =
Al
km 1.000 206, 800. 00 206, 800
A TE A AR
km 1.000 70, 520. 00 70, 520
AREE
km 1.000 45, 330. 00 45, 330
= it E%8H :1.00km 322, 600. 00 322, 650
&5 :1-9
LF . MR E Tkmy
2 # 1BIE - AR B B B ff % i w =
& 2605 O« REiR] »FEas
km 1.000 652, 700. 00 652, 700
HEHTE R AR i260m5 O A REdR] » FEas
km 1.000 187, 000. 00 187, 000
AREE 2605 O A REdR] » FEas
km 1.000 93, 790. 00 93, 790
= it E¥8EH :1.00km 933, 400. 00 933, 490




BEf®R -EI/ \vr—> SHEERER S S U RERSEE
&5 :1-10
2% BFRERIERE EE)
2 s 1BIE - AR By % 8 B # 1 w =
EFHERERE
= 1.000 37, 000. 00 37,000
= it YEZERED 1. 00K 37, 000. 00 37,000
&5 . 2-1
L SRR (1LY Y) E 0
2 s 1BIE - AR By % 8 B # 1 w =
E:2o1
A 3.00 57, 400. 00 172, 200
E:2o1
A 1.00 57, 400. 00 57, 400
®EF (A)
A 4.00 51, 200. 00 204, 800
®EF (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 7.00 40, 600. 00 284, 200
H®EF (C)
A 18.05 32, 800. 00 592, 040
= it EIHERNES S 1, 387, 440. 00 1,387, 440




B@FR-EI/ AvGF— SHRBEEERBEEBFEWREMRET
&5 :2-2
£ FEREMmRE 14y
2 b g - BIRTE By = BHO(f ) # " =
HEnE
A 0.50 65, 500. 00 32, 750
FEHER
A 3.04 57, 400. 00 174, 496
FEHER
A 0.39 57, 400. 00 22, 386
AR (A)
A 6.28 51, 200. 00 321,536
AR (A)
A 0.39 51, 200. 00 19, 968
HEm (B)
A 11.08 40, 600. 00 449, 848
AR (C)
A 11. 26 32, 800. 00 369, 328
g
A 12.25 29, 000. 00 355, 250
& Hi 1E%HeH - 1.00K 1, 745, 562. 00 1,745, 562
&5 :2-3
£ BEKIERR T E - MEAERTEIEEET 14y
2 b g - BIRTE By = BHoO(f ) # " =
FEHER
A 0.09 57, 400. 00 5,166
FEHER
A 0.09 57, 400. 00 5,166
AR (A)
A 0.14 51, 200. 00 7,168
AR (A)
A 0.09 51, 200. 00 4,608
HEm (B)
A 0.36 40, 600. 00 14,616
AR (C)
A 0.27 32, 800. 00 8, 856
g
A 0. 45 29, 000. 00 13, 050
& B 1E%HeH - 1.00K 58, 630. 00 58, 630




BEf®R -EI/ \vr—> SHEERER S S U RERSEE
£S5 :2-4
L EEEmRE EE)
2 s B - BIRTE B B B ff # 1 w =
®EF (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 3.00 40, 600. 00 121, 800
HEm (B)
A 0.50 40, 600. 00 20, 300
H®EF (C)
A 3.50 32, 800. 00 114, 800
®iia
A 4.00 29, 000. 00 116, 000
= it YEZERED 1. 00K 449, 700. 00 449, 700
&S5 :2-5
L FEMKEEREE (1£HLY) E3 1
2 s B - BIRTE B B B ff # 1 w =
EE 1]
A 1.00 57, 400. 00 57, 400
EE 1]
A 1.00 57, 400. 00 57, 400
®EF (A)
A 3.00 51, 200. 00 153, 600
®EF (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 3.50 40, 600. 00 142,100
H®EF (C)
A 1.50 32, 800. 00 49, 200
= it EIHIERNIES S 510, 900. 00 510, 900




BEf®R -EI/ \vr—> SHEERER S S U RERSEE
&S :2-6
2% HEMKBEREE GTI]RR) EE)
2 s 1BIE - AR B B B ff % 1 w =
E:2o1
A 2.63 57, 400. 00 150, 962
E:2o1
A 0.35 57, 400. 00 20, 090
®EF (A)
A 5.60 51, 200. 00 286, 720
®EF (A)
A 0.35 51, 200. 00 17,920
HEm (B)
A 9.10 40, 600. 00 369, 460
H®EF (C)
A 9.98 32, 800. 00 327, 344
®iia
A 9.98 29, 000. 00 289, 420
= it YEZERED 1. 00K 1, 461,916. 00 1,461,916
&5 :2-1
& BEHE (SIS EE)
2 s 1BIE - AR SE B B B ff % 1 w =
E:2o1
A 1.00 57, 400. 00 57, 400
®EF (A)
A 1.00 51, 200. 00 51, 200
= it YEZERED 1. 00 108, 600. 00 108, 600
&5 :2-8
2F . BEHRE (DRIRS) EE)
2 s 1BIE - AR Bif B B ff % 1 w =
E:2o1
A 2.00 57, 400. 00 114, 800
®EF (A)
A 2.00 51, 200. 00 102, 400
= it YEZERED 1. 00 217, 200. 00 217, 200




B@R-EI/\vr—> SHEERER S S U RERSEE
5 :2-9
B BEHBE (BRBE) Ee)
2 # 1BIE - AR B B B % i w =
BE - BFE
A 1.00 65, 500. 00 65, 500
E:2o1
A 1.00 57, 400. 00 57, 400
®EF (A)
A 1.00 51, 200. 00 51, 200
= it YEZERED 1. 00K 174,100. 00 174,100
= :2-10
2 EHRALE Ee)
2 # 1BIE - AR B B B % i w =
EBRARE
= 1.00 52, 609. 00 52, 609
= H YEZERED 1. 00 52, 609. 00 52, 609
£S5 2-11
275 kB 1%Ly
2 # 1BIE - AR Bif B B % i w =
B
= 1.00 145, 089. 00 145, 089
= it YEZERED 1. 00 145, 089. 00 145, 089
B&S :2-12
L FIRIBAZ 13ty
2 # 1BIE - AR Bif B B % i w =
RIS AZE
= 1.00 231,722.00 231,722
= it YEZERE .00 231,722.00 231,722




